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5. Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble

' indicating the correct answer on the Answer Sheet using BLUE
BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet, When vou
are directed to open the Test Booklet, take out the Answer
Sheet and fill in the particulars carefully with blue ball peint
pen only,

7. 143 part of the mark(s) of each question will be deducted
for cach wrong answer. (A wrong answer means an incorrect
answer ot more than one answers for any question, Leaving
all the relevant circles or bubbles of any question blank will
not be considered as wrong answer.)

8. The candidate should ensure that Question Paper
Booklet No. of the Question Paper Booklet and Answer
Sheet must be same after opening the polythene bag/
seal. In case they are different, a candidate must obtain
another Question Paper. Candidate himself shall be
responsible for ensuring this.

9. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found with
any of such objectionable material with him/her will be strictly
dealt as per rules,

10, Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number,

11. If there is any sort of ambiguity/mistake either of printing or
factual nature then out of Hindi and English Version of the
question, the English Version will be treated as standard.

Warning : If a cundidaie is found copving or if any unatethorized
material is found in hisfher possession, LR would be lodaed
against hiniher in the Police Station and he/she would liable 1o
be prosecuted. Department may also debar him/er permanently
fronr all funre examinations.
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1. TE wien 9@ n et e § g 1.  The maximum number of electrons in

= st ge B & the shell with principal quantum
_ number n is equal to
(i) n* 2) 20> (1) n2 @) 2n?
(3) n+/ 4 @+ (3) n+l (4) @+1y
3. Frefetes § € 95 @ %99 $uie feont | 20 Which of the following statements is
2 incorrect for Cathode rays ? =
%%‘Q’H’lﬁ e R . (1) Thé Cathode rays start from
(1) Feis feto e | o sl TiS ' cathode and move towards the
= ST ol 8 | @ ot ab f electrical
. . . 2) In the absence of electrical or
() Torger e G &= <hl SRt A magnetic field, these rays travel in
. I Tetol Wi} fea & 7o et € straight lines. '
(3) i Fetol ¥ @ e Rpwor (3) The characteristics of cathode
. ’ . rays depend on the material of
e 3 getergiel o ugrd Ue Suferd - clectrodes and the nature of the
g =t wpla W e € 1 gas present in the cathode ray
: Ay tube.
(4) ¥eirs oot & SRR FoT & € | (4) Cathode ra - —
_ ys consist of negatively
_ charged particles.
3. =4 3% for oo e st we it 3.  The total number of orbitals for [ = 4
(1) 4 2 5 will be
(3) 7 (4) 9 (1 4 (2) 5
(3) 7 4) 9
4. 7 =120 9 O & W eGSR % 4, The element Z = 120 would be placed
9 : in which family of periodic table ?
fop e & g ey |
(1) TWRE IRER ' ' (1} Halogen family
§ (2) Alkaline earth metals
(2) KEURLI
(3) sepe N (3) Noble gases
(4) & U : (4) Alkali metals
5, #WEAEe Yifcares S76T0T & Wal A & 5. The correct order of increasing

T s metallic character is
1) P<Si<Be<Mg<«< :
(I P<Si<Be<Mg<Na (1) P<Si<Be<Mg<Na

(2) P<Si<Mg<Na<Be | (2) P<Si<Mg<Na<Be
(3) Na<Mg<Be<Si<P (3) Na<Mg<Be<Si<P
(4) P<Si<Na<Be<Mg : (4) P<Si<Na<Be<Mg

6. TeiefEg § @ w9 9 S @ U A | 6. Which of the following orbitals does not
T BT E _ _ have angular node ? '

(1) p -+ (2) dz-FTh ~ (1) p,-orbital (2) dz? -orbital
(3) p sy (4) 15_&,.-&:'3’— (3) py - orbital (4) 1s - orbital
Y .
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el fawe § T W CoCl,4NH,,
i § AgNO, % T/ T Tt AgCl 1
S o €, a9 urg H fies e
& g 2

(1) 3 2) 4

(3 5 4) o
Nb I ST T e e

(1) 4d?, 5s! (2) 443, 55°

(3) 4d3, 5s2 (4) 443, 552
St foerae o ST oe % g
3T R UM FAE, AT FEHRT WA
FUIH 25 ¢

(1) 47 BM (2) V53 +1) BM

(3) Y5(5+2)BM (4) +fs BM

frefofae § @ B W Gge S
ForerEedl YST¥E el B § ?

(1) {P(NH,),Ch]

(2) [Ni(CO),]

(3) [Co(NH,;);(NO,);]

(4) [CoCly(en),}

frfefea o & few 0 # =y %4 WA
&?

(1) N,, Cl, (2) 02, F,

(3) NO*, CO (4) 0, N,

As T Si H 37afheT e &

(1) n-WEHR HT SEAAE

(2) p-YER I HAAH

(3) TR STE=ETH

(4) IR | J B &

Tb 1 =TT FAFTH fa=aTg &

(1) 4, 652 (2) 417, 5d!, 65
(3) 4f, 652 @) 414, 652

10.

11.

12.

13.
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In aqueous solution 1 mole of

- CoCl;-4NH, gives | molé of AgCl

precipitate with excess AgNO,, then
what is the secondary valency of metal ?
1y 3 (2) 4
(3 3 (4) 6

The outer electronic configuration of
Nb is )
(1) 4d4, 5s!
(3) 4d3, 5s?

(2) 4d5, 550
(4) 4d>, 5s?

Calculate the magnetic moment of
divalent ion in aqueous solution, if its
atomic number is 25.

(1) \7BM (2) GG+ 1)BM
(3) 5(5+2)BM (4) \5BM

Which of the following complexes
does not show geometric.isomerism ?

- (1) [PHNH,),CL]

(2) [Ni(CO),]
(3) [Co(NH;);(NO,),]
(4) [CoCly(en),]

Which of the following pﬁir has same
bond order ?

(1) N,,Cl,
(3) NO*, CO

(2) O3F,

Doping of As with Si is called
(1) n-type semi-conductor
(2) p-type semi-conductor
(3) intrinsic semi-conductor
(4) None of the above

The outer electronic configuration of
Tb is

(1) 4F9, 652
(3) 4f7, 652

(2) 4f7, 5d", 652
(4) 4f'4, 652
(u]
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14..

15.

16.

17.

18.

19.

ffafad g SeFae | 4 fa=ma ¥ 7

(1) La®*
(3) Yb*

(2) ce**
(4) Yb**

ey Fover o W ~ 95% i ) we] arel-
- :

(1) HshHHT a1
(2) w=EHEE U
(3) el U

(4) &R 7T A

fFefateg & & %9 W oa™ 47
STRATEERTY STET TEIETe e § 2

(1) Th (2) Pa

(3) U (4) Np

Frefafes 8 @ w9 W AR vEd

HiFHRR & 7

(1) Ce**

(2) Eu?*

(3) Yb** _
(4) W Ce**, Eu?*, Yb2*

Tepeit arfafemar o1 o Fram &

a1 = K[A] [B]?

[A] 3R [B] &t & T &R W SAafmar
AT ST AT AT T = 2

(1) 2

(2) 4

3) 8

C{4) 16

Rretfan & & B W T Y B B

sfraratt % fere wet et ¢ 9
(1) /n[R] T& t % T WA TET G ¥ |
(2) [R] T t ¥ TeT TS TG AT ¥ |
(3) Ki=[R],~[R]

[R],

) b=k

14.

15.

16.

17.
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Which of the following lanthanoid ion
has f'4 configuration ?

(1) La’* (2) Cce**

(3) YB3t 4) Yb*

Mischmetal alloy consists of ~ 95% of
which metal 7

(1) Transition metal

(2) Lanthanoid metal
(3) Actinoid metal

(4) Alkaline earth metal

Which of the following elements

- shows +7 oxidation state ?

(1) Th
) u

(2) Pa
(4} Np

Which of the following ions is strong
oxidant 7

(1) Ce**
(2) Eu2*
(3) Yb%
(4) All of Ce*", Eu?*, Y2t

The rate law for a reaction is
rate = K[A] [B]?
on doubling [A] and [B], the rate of

the reaction shall increase by a factor
of '

(1) 2

2) 4
(3) 8
4) 16

Which of the following statements is
not correct for zero order reactions ?

(1) Mm[R] vstis straight line plot.
(2) [R] vs tis straight line plot,
(3) Kt=[R};—[R]

- [R]p
4) t, g = T
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20.

21,

22,

23,

24,

25.

0s

(3) MoTWI W

e i = o , 99.9% SRR

' {ﬁﬁ#ﬁmwm(t%)ﬁ_ﬁﬁw

TR ?

(1) 277 (2) ST

(3) 7T (4) 10 TW
frfofaa © @ S 91 B2 [@eRiN %
forw Wt g € '

(1) TE ST &

) ?ﬁa&mma%@aﬂﬁa?&
. |

() i % Ao B @ e

e |
(4) T% AT wHii = B |

[Co(NH,);C1S0, T [Co(NH,);80,1C!
MG H €

(1) G FeTaga

(2) o FEEEE

(3) SU-GeddST YaEget

(4) wanfiii SveRTe

O/W Hee % g e wradt e
(1) =

(2) o ST % Tepler

(3) VPRI TH Wi W

(4) =g ST 3 T AR o A=

frfafag § € o9 § gH @ eenEs
WHa & HROT BN AT WA T6l
g g ?

(1) Zr T Hf (2) NbTd Ta

(@) YWt

IR 25 °C W, fedt 9 % 200 X
IERE W SHH fgeEs # AW
5 % 1073 & ot 38R 3R Fem feri® &
(1) 4x10°2%  (2) 102k
(3) 2.5%x 10° 2 (4) 2x10* e

20.

21.

22,

23.

24.

23.
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In a first order reactidn, the time
required for completion of 99.9% is
how many times of haif-life (t,,) of the

reaction 7
(1) 2times (2) . 5 times
(3) 7 times (4) 10 times

Which of the following statement is
incorrect for chemisorption ?

(1) ltis irreversible.
(2) Enthalpy of adsorption is high.

(3) Low temperature favours
adsorption.

(4) It is highly specific in nature.

[Co(NH,);C/] SO, and [Co(NH,);80,] C!
are' '
(1) ionisation isomers.

" (2) linkage isomers.

(3) co-ordination isomers.
(4) geometrical isomers.

The principal emulsifying agent for
O/W emulsions 1s/are '

(1) Lamp black

(2) Long chain alcohols

(3) Natural and synthetic soaps

(4) Heavy metal salts of fatty acids

Which of the following pairs does not
have nearly same size due to
lanthanide contraction ?

(1) Zr and Hf (2) Nband Ta

(3) Moand W (4) Y and Pt

If at 25 °C, at a vapour pressure of
200 Torr of a gas its mole fraction in

solution is § X 1073, then its Henry’s |

law constant is _

(1) 4x104Torr (2) 1.0 Torr

(3) 2.5% 1075 Torr (4) 2 x 10* Torr
(m |
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26,

27.

28,

29.

30.

31.

32.

sneitfafas & B o g oE a9 ®
iR T 2

(1) HHE vioee

(2) e 39

(3) Hiewrar

(4) e

TS T W TS %
TERgaml % FeF &1 A & T

(1) 60 °C (2) 78 °C

(3) 88°C (4) 101 °C

KCI % 50% foraiierT % oy e &1 R
iBHA &

1 ) 2

(3) 1.5 4 1.25
e feiE K, F 3Py
(1) K mol”! (2) kg mol™!

(3) Kkgmol (4) Kkgmol™!
W, SgeRl Ue S gegupel & AteR
SEAN T A &l gl oy &

(1) RO g '

(2) I H FIH
(3) OIS I AR ST
4) feais = s

10 atm T@ WX Tt 3TRY) A9 % 31 fofey,
TaaE w9 ¥ el | o9 a% vaka 8
€, 39 T $H F A 10 feret 7 &
ST | 39 WO | fpe s fomer S &0

(1) 80L atm (2) 10L atm

(3) 8L atm 4 0

et il & deidt afeds sarT:
AL I

(1) a@are | (2) FEIT |

(G) WHATEAE ! (4) 0

26.

27.

28.

29.

30.

31.

32.

(3) K kg mol

" Predict
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Which of the following concentration

units depends on temperature ?

(1) Mass percentage
(2} Mole fraction
(3) Molarity

(4) Molality-

‘At atmospheric pressure ethanol H,O

azeotrope boils at about
(1) 60°C (2) 78°C
(3) 88°C. (4) 101°C

Van’t Hoff factor i for 50% dissociation
of KC/ is
(1) 1
3) 1.5

2
4y 1.25

The unit of cryoscopic constant K. is

(1) K mol! (2) kgmol™!
(4) K kg mol™!

The method widely used to determine
molar masses of proteins, polymers
and macromolecules is '
(1)
(2)

Osmotic pressure
Elevation of boiling point

(3) Relative lowering of vapour
pressure _
(4) Depression of freezing point

Two litres of an ideal gas at a pressure

-of 10 atm.- expands isothermally into

vacuum until its total volume is 10
litres. How much work is done in
expansion ?

(1) 80 L atm
(3) 8L atm

(2) 10L atm
4) 0
the entropy change in
following reactions :

H2(g}—)2H{g)
(1) Increases (2} Decreases
(3) Remains same (4) 0

0s
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Prefafea Srdier & @A 3 it o
HE?

(1) SSTER
(3) dm@

(2) ==
(4) =&

qgfsAE o9 T 27 °C W TF A 5 %
o7 3 aRelitd € s T 30 kimol~! @
A T uRaEe = 9 i N | -
(1) 0.1 JK~! mol™!

2) 100 JK~' mol™!

(3) 100 kJ K~! mol™

(4) 999 JX~' mol-!

Mmqﬁmwmw{wﬁﬁﬁm
By
(1) AG<0

(3) AG>0

(2 AG=0
(4) AG =1

@ difean YRe ¥ welg faere @

Terege-erasre fpar =i & 99 Fretiwied
7 i Wity e W e B e 2
(1) co, (2) CH,—CH,
(3) H, (4) CH,COO"
TR -
Cr,0,
CH,(CH,),CHj W A
10-20 atm
AT |
(1) CH,, (2) C,H,COOH

(3) CH,0H (4 CH,
frfetad ey Qe & AT TTeReA
[ AU TS HHH-2- 371 W B § 7

(1) 29

) 1=

(3) 2-uiuEmd

(4) 2,3-TEAte-2-=EH

33.

34.

335.

36.

37.

38.
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Which of the following parameter is
an extensive property ?

(1) Heat capacity (2) Density
(3) Temperature (4) Pressure

At atmospheric pressure and 27 °C, when
1 mole of a liquid changes to vapour, its
enthalpy change is 30 kJmol™!. Calculate
the entropy change

(1) 0.1 JK "mol™!
(2) 100 JK "'mol-!
(3) 100 kJ K-'mol""!
(4) 999 JK 'mol™

At constant pressure and temperature
the process is spontaneous when

(1) AG<0 (2) AG=0
(3) AG>0 (4) AG =~ 1

Which of the following species is
liberated at cathode, when aqueous

solution of sodium acetate is
electrolysed ?
(1) CO, (2) CH,-CH,4
(3) H, (4) CH,COO~
In the reaction :

Cr,0,
CH3(CH2)4CH3W A

10-20 atm
Ais : '
(1) CHy, (2) CH;COOH
(3) C(H;OH (4) CHy

Ozonolysis of which of the following
alkenes gives methanal and propan-2-
one ?

{1) 2-Butene

(2) 1-Butene

. (3) 2-Methylpropene

(4) 2,3-dimethyl-2-butene
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39, S22 sfiew § Tefefee dfe &
arffsrasiieTar s el wE € -
(1) CHyCH,CH,CH, Br<
(CH,),CHCH,Br <
Br_
(CH3);C ~ Br

(2) (CH,),C - Br < CH, — CH,CH,CH, Br
< CHyCH, — CH - CH, <
| Br
(CH;),CHCH,Br

(3) CH,CH,CH,CH,Br >
(CH,),CH — CH,Br >
CH,CH, (IZH - CH; >

Br
(CH3)3C ~Br

(4) CHy - CH, — CH .~ CHy >
Br
(CH,),CH — CH,Br >

CH,CH,CH,CH,Br
40, e
' CH,CH,CH, — (T“H — CH,
: Br -
—v—-> &1 & IR &
KOH
(1) CH,-CH,~CH,— (|:H — CH,
OH

(2) CH;-CH,-CH,-CH=CH,
(3) CH, - CH, - CH, - CH, - CH, — OH
(4) CH;—CH, - CH=CH - CH,

39.

40.

GET IT ON
Google Play

The correct order of reactivity of
following compounds in Sx? reaction is
(1) CH,CH,CH,CH, Br<
(CH,),CHCH,Br <
CH; ~ CH, ~ CH- CH, <
- Br
© (CH,),C - Br

~ (2) (CH,),C—Br<CH,-CH,CH,CH, Br

Br
(CH,),CHCH,Br

(3) CH,CH,CH,CH,Br >
(CH,),CH — CH,Br >
Br

Br
(CH,),CH - CH,Br >
CH,CH,CH,CH,Br

The major product of the reaction
CH,CH,CH, - (T“H - CH,

Br
Alcoholic
. W 18
(1) CH,;-CH,-CH,- ?H - CH,
OH

(2) CH,;-CH,-CH,-CH=CH,
(3) CH;—CH,-CH,—CH,-CH,- OH
(4) CH,;-CH,~-CH=CH-CH,

05


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

41. SThIGRAT | 41. The Reaction:
@/CH3 CrO,Cls @rCHO%
CS, . @/CH3 Cr0,Cl, @/ CHO
(1) *eXEE Sfufshar Cs;
(2) TewH-FE HuEE _ (1) Gattermann reaction
(3) S8 st (2) Gattermann-Koch reaction
@) HvZ S (3) Etard reaction '
. (4) HVZ reaction
42, effifer - _ 42. In the reaction :
CH.CHO + CH.CH.CHO () NaOH 3 CH,CHO + CH,CH,CHO (i) NaOH
SO T LT Qi) A " o A
RT3 T T ST W T B 2 product which is not obtained is
0 Eﬂg—2-‘é‘3|?1'. {1y But-2-enal
: : (2) 2-Methyl but-2-enal
(2) 2-Hf F2- e “ (3) 2-methyl pent-3-enal
(3) 2-Afret ¥-3-$ (4) Pent-2-enal

4) 28w

43. ﬁqﬁr’@ﬁmﬁqﬁqﬂ;ﬁq sTiEHE | 43. Which of the following compounds

T TS ST Tt 3T 2 ' does not give red brown -precipitate
' ) with Fehling reagent ?
(1) CH,CHO

(1) C4H;CHO

(2) HCHO o (2) HCHO
(3) CH,CHO (3) CH,CHO
(4) CH,CH,CH,CH,CHO (4) CH,CH,CH,CH,CHO
4. Treafofag & @ &9 @ FEewH 44. Which of the following does not give
sl 92 2ar ? ‘ iodoform reaction ? _
1 - -C- —
(1) CH;~CH, - C~CH, - CH, (1) CH;~CH,-C~CH, -~ CH,
0 0
(2) CH,—CH-CH, (2) CHy-CH-CH,
on OH
(3) CH, —'<": ~ CH, (3) CH,-C-CH,
0 0
H CH
H CH, \ \
(4) C=C_ 4 /C=C\
H,C (ﬂ“ - CH, H,C (lf - CH,
0 | | 0
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45.  afiyfmar | 45. RCH,COOH

RCH,COOH (i) X, /el FEHRE . (i) X,/Red phosphorus
(i) H,0 | (ii) H,0 I
R~ CH ~ COOH et & R~ CH — COOH is known as
X ' . X : :
(1) MPV &= stfRar | (1) MPYV reduction reaction.
(2) W‘W-W affshar (2) Hell-Volhard-Zelinsky reaction
(3) ‘el arifRar (3) Haloform reaction
(4) fofen atafean - (4) Wittig reaction
46. HCN % 47 & ¥e FEMIer e st 46. The carbonyl compound which is most
iy fifraeler & ' reactive when HCN adds
(1) CH,-C - CH, (1) CH,y == CH,
0 | | 5
(2) CH, - CH, - CHO (2) CH,-CH,-CHO
(3) CH, - CHO (3) CH,-CHO
(4) HCHO : (4) HCHO
47. Tfafaa @aﬁqmqﬁﬁmﬁﬁﬁﬁmqﬁ 47. Which of the following compounds is
¥o not aromatic ?
n W 01
M . O

@ (.} @ 4}
H - H
48. TRgFEE oM W St =t ufEAr ¥ | 48, In the process of generation of
- Arfer erer Trefafad wt Hifa et s * nitronium ion the nitric acid serves as

T (1) Acid " (@) Base
8; i 8; N 3) Salt (4) Catalyst

49. I=14 % WERAEE gaeme § 0y 49. In electrophilic  substitution of
AT benzene, the arenium ion has
(1) ot iy R sp? wERE § (1) all sp? hybridised carbon atoms.
(2). Tt e R sp? WaRa ¥ | {2) all sp? hybridised carbon atoms.
(3) WWW"I sp’ HRAE | (3) one sp? hybridised carbon atoms. _
(4) T FET WA sp? GHRA ¥ | (4) one sp? hybridised carbon atoms. .

= 10 _ 05
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W e | d=iE T ¢, 9
afirfsran @ N = 9§

(1) TR TR Sk

(2) @ SR _

(3) TR wiawea e

(4) e stffsean

ORI Y S e @ Sfufshar g
AT

(1) dvemiH o=
(2) AR s
(3) ToLHIE STHT
(4) n-eFEdT

forg foafim &t 81 @ RBC &l JRTH
¥ ofig oo wiw-Afw B FES EeR ¢ 2
(1) feafK (2) T E

(3) T B, (4) TefmB,,

fofafas o @ #F @ EvEE UHE

AT AR €7
() wE=

(1) S
(3) Qe (4) wedH

DNA 0] B ¥oh{T 31191 5978 &
(1) B-D-HRITAE

(2) B-D-TeEHEH

(3) B-DE=E

(4) PB-D-2-fevirrRiRTEEE

WelH & B G G UHE ol %

fafvree shy @ Faifer & 2
(1) wmafaes ST
(2) ficiias W=
(3) g ST
(4) FqF HT

50.
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Under ultraviolet light, the reaction of
benzene and C/, molecule produce

gammaxane is

(1) Electrophilic substitution reaction.
(2) Addition reaction.

(3) Nucleophilic substitution reaction.
(4) Oxidation reaction.

Glucose on reaction with bromine
water gives

(1) Pentabromo derivative
(2) Saccharic acid

(3) Gluconic acid

{4) n-hexane

Deficiency of which vitamin causes
increased fragility of RBCs and.
muscular weakness ?

(1) Vitamin K (2) Vitamin E
(3) VitaminB, (4) VitaminB,,

Which of the follbwing is not an
essential amino acid ?

(1) Valine (2) Leucine
(3) Alanine {4) Lysine

The sugar moiety present in DNA
molecule is

(1) B-D-fructofuranose
(2) B-D-glucopyranose
(3) P-D-ribose

(4) B-D-2-deoxyribose

Which structure of protein is related to
specific sequence of amino acids ?

(1) Primary structure:

(2) Secondary structure
(3) Tertiary structure

(4) Quarternary structure
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56.

57.

58.

59,

H Remait x, y @ 2 § T B @
sﬁagmﬁa‘mﬁm%fﬁaﬁﬁ@a?ﬁm
HHTehToT Wel T2 & ?

[ﬁjﬂ%l=a}

Y ¥ Y —4m?
W92 92 a2 ~ 2 ¥
— 472

kZ

8::: m

(E— wW=0

(2) VY - ¥
(3) V¥ -

41.{2 2 2
4 V2 -+ T\on

Tpfefad o @ ® 91 T sife R @l
AT & & & ToIT W@l et & 9

(1) W wae g1 =fey |

(2) ¥ ardfhe g efew

(3) W o i A B =l 1

+ na

4) f P2 dx dy dz = 1

- g

T R o Pl il §
mﬁw@ﬁ%ﬁémfwﬁﬁﬁﬁ
fera wiaesvr 67 <ad & 9

(1) forgareita ferfer

(2) wiE IR el

- (3) nf aw Refa

@) Hxd
Fefwfas & @ 2s. 2p, 3T 2p
quﬁhm%awwq‘ra?whﬁ

ST Wi 9T sp? THT ek Tel T8l & 2
2

% ‘PZI)
(2) "PSp ,\/5\},’)@-’-,\/_6‘ 2p, '\/5 2]1

(3) Ysp= { \]5 2p\ \/5 2py
(4) Wsp?= \/—\y,ﬁ \/B 2p‘

1
(1) Wsp? =\_/-§'~P2q—-

12
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Which of the following equation is

incorrect for an electron moving in
three directions x, y and z ?

o _ b
(glven that A, = mv)

— 412

e L S L L PN
22 ¢

D a2t Yoz =
— 4x?
kZ
(3) VQ‘I‘—m(E v)‘{" 0

@) v2\1.1+i”—2%~"—\11=0

h

(2) V*¥= b3

‘Which of the following properties is

incorrect for the solutions to the
Schrodinger wave equation ?

(1) ¥ must be continuous

(2) ¥ must be finite

(3) W must have three values
+ o

(4) f W2 dx dy dz =1

As a general rule, if lone pairs occur in
trigonal bipyramid they will be located
in - which  position to minimize
repulsive forces ?

(1) Equatorial position

(2) Apical top position

(3) Apical bottom position -

(4) At the centre

Which of the followmg hybnd sp?
orbital obtained is incorrect after
combining the wave functions of the

2s, 2p, and 2p, atomic orbitals ?

. | -2
. (I) q;sp:z:ﬁ\pk_% lPpr

L 1 1
1 1 1
3) qlsp2=Tqus+—-\/-—6 ‘Pzpl 5 P,

(4 \PSp \/— ‘\[.6- Zp‘

05
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60, a:ﬂga%a@%m@ﬁufﬁﬁaﬁﬁ?ﬁ%v 60. The shape of the molecule is not

Wﬂﬁﬁﬁ%%ﬁ@ﬁwm
fogia e R Y

(1) Spel Bt oy ST wfER |

(2) Tl 1 T

(3) Hpel F1 gerriia W |

(4) THH F T DA 0T B IR |

. W] A ¥ ¢ Frar w0 See e
-'Wwﬁmmw

Fotl AT AT §

(1) -0.4 - (2) -06

- (3) -038 4) -12

T 50 gC © 31T o ey &

(1) & T > O @l > N & >
C T

(2) ¥EE AT < O TE@I < N T <
C T -

(3) O T < geNS T < C TN <
N g |

(4) O T« > TS TET > C T >
N g

1) o Y determined by
() na (1) obonds
() T T—Eﬁ 3 (Z) wbonds |
- D G- (3) .lone pairs’
‘ . K T (4) All of 6 and n bond and lone pairs.
ferfeiaa o & = o1 g & 9 Which of the following is correctly
wiviiy  arpfe S me matched ?
(1) NO: : 133 Species Shape Bond order
3 B (1) NO; Linear 1.33
(2) coy, Em 1.5 . ,
- (2) CO, Linear 1.5
3) N, V- 3:||§5|&"| 2
) N, . (3) N; V —shaped 2
4) 0 vV-amida 1.5 ‘ '
@0 (4 0, V-shaped 1.5

The valence bond theory for transition
metal complexes explains :

(1) Shape and stability of complexes.

~ (2) Colour of the complexes.

(3) Electronic spectra of the complexes.

(4) Variation of magnetic property
with temperature.

The crystal field stabilisation energy in
terms of A, for d® configuration of

metal ion in high spin octahedral
complex is

(1) -0.4 - (2) -06

(3) -08 @ -12

A pattern of increasing ¢ donors is

(1) halide donors > O donors > N
donors > C donors

(2) halide donors < O donors < N
- donors < C donors

(3) O donors < halide donors < C
donors < N donors

(4) O donors > halide donors > C
donors > N donors
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“65.

60.

67.

68.

69.

70.

frfefiaa fFa #R®F ® A, & TRAT

TR wtar g ?

(1) Terrei =i woid

(2) W 3ET 9T FaemT e

(3) urg H wem, T evEr gdE
wemrror St 7 fefe

(4) w1, 2w 3 wRiRE

HEFHY SHT | ﬂar—nltgl’r Tt
FR &

(1) A-SoloR ol WA et

(2) egmﬁ"fwmnﬁaw

(3) tzg-wﬁmrmﬁqﬁwa

4) tzg-ﬁaﬁ‘f T AT W

IEFADE TP H d° I W YEA
ferTes & ¥ washuT W e Bt &
(1) 4.9 BM (2) 0BM

(3) 1.73BM  (4) 2.83BM

Proegel § 9 arRE S SR i
ARE L & T Ui Sied W A Faien
T J T Bl & 1 I % o ¥ W W
MR iEfea T S Qs T &2
(1) J=L-8 (2) J=S-L

(3) J=L+8 (4) 1=LS

71 A9 T Eudt o gehi YOl (BM)
frefoiean o § feas gdia € 2

(n o @21

(3) 2 4) 3

Ce3t it Yb3t, UV 89 ¥ W sTenyer
Wi wa ¥ | Feafafes § 9 w9 @
H T ferw T T &2

(1) 4F 9 54 FsbHoT 61 G |

(2) Al=1

(3) ¥ s b svtctgl—u & IVET I |

A g d FHeA €
(4) f-d forex o ¥
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The magnitude of A, depends on

which of the following factors ?

(1) The nature of the ligands.

(2) The charge on the metal ion.

(3) Whether the metal is in the first,
second or third row of transition
elements. -

(4) Dependsonall 1,2 and 3.

Significant distortion of the octahedral

shape is caused by

(1) symmetrical
d-electrons.

(2) - asymmetric filling of the e orbitals.

(3) asymmetric filling of ~ the t2g

4)

arrangements  of

orbitals.
symmetric filling of the t2g orbitals.

The spin only magnetic moment in
strong ligand field of d® ion of
octahedral complex is

(1) 49BM (2) 0BM
(3) 1.73 BM (4) 283 BM
In - the lanthanides, the spin

contribution S and orbital contribution
L couple together to give new
quanfum number J. Which of the
following relation is correct when shell
is less than half full 7~

(1) J=L-8 (2) I1=8-L

(3) J=L+8 4 J=LS

At low temperature, the magnetic
moment (BM) of Eu** is close to
which of the following ?
(1) 0 2) 1
(3) 2 4) 3

Ce** and Yb3* show strong absorption

in UV region. Which of the following

reasons is not correct ?

(1) transition occurs from 4f to 5d.

(2) Al=1.

(3) promotion of electrons in these ions
is difficult than for other ions.

(4) f-d peaks are broad. '

05
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72.
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A

[Ce(NO,)J>~ | Ce i IuGeEaSH W& -

3
(1) 4
(3) 10

.(2) 6
4) 12

Mg[Th(NO,),] ¥Fe i i &
(1) I=FEDY

(2) TR

(3) Torercrerent

(4) = ufafrss

Frifs faemaw § g@ fR9 e W
B-SE®Ed WHW nmr WA H
wRAEe g () stfimmrs % w9 H
TR B & 2
(1) Ce**

3) G&*

@) P
4) Lu**

T T T BRI W aw eed W
Iy faueT s an Fam &

(1) V=k

(2) V =k [PH,]
(3) V =k [PH,] [W]
(4) V=k [PH,]?

uF YRR SAfufkar : 24 o TR
% o7 Fraw o g U E

|

1
§)) m—m=kt

(2) [A]=[A]e™

@) I [{Aé]ﬂ — It

@) [A], = [ale

15
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The co-ordination number.of Ce in
[Ce(NO3)6]2‘ is '

() 4 2) 6
(3) 10 4) 12
The shape of the complex’

Mg[Th(NO;),] is
(1) Octahedral
(2) Trigonal

(3) Icosahedral

(4) Square antiprism

f3-Diketone complex of which of the
following ions dissolved in organic
solvent is used as lanthanide shift
reagent in nmr spectroscopy ?

(1) Ce# (2) P+
(3) Ga* (4) Lud*
The catalytic decomposition of

phosphine on hot tungsten at high
pressure has the rate law

Q) V=k

(2) V=k[PH,]

(3) V=k[PH,][W]
(4) V=k[PH,;]?
For an elementary reaction : 2A — products.
The integrated form of rate law is

1 i
(1) m—m=kt

(2) [A]=[Ale™

(1AL .
(3) M [[. A]o) =—kt

@ [A],=(Ale™
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76.

77.

78.

79.

80.

81.

Yol HIEE H BT §
(1) Tt smerEeEam

(2) ST

(3) ~IFAH ST TeEEehal
(4) IR
swifsfge weet § fFasr oF® Hier
fore et g w2 0
(1) ¢ @&

(2) C ()

(3) H, ()

(4) Br, (39)

A WA K = PAeFORT F SR P ¥
(1) woee I

(2) s FRE

(3) s

(4) T EEA

025 W& K,50, Taemm =i st
ured &

(1) 0.25 (2) 0.50
(3) 0.75 4 1.0
SR FHIHOT

4 20%10°
A’m-_n}"r(:l_{([)iz)lfzn-!-g(zg’r)lif A’,?I}\,(_:
Preh A vud AR g 95 AT 9§
(1) sramfhfa R iR e Fo1 doed
P '
(2) = S 1 o u9E A
(3) T HT HAEH W AR TR

PEiE)
(4) aﬁ‘rmﬁqﬁrm%m

whEas ok feuw waet A
W%leogﬁaﬁ\/ﬁﬁ?ﬁﬁ'

STeRET § W T 1 el 8
(1) 0.509 (2) 3 x 0509
(3) 4x0.509  (4) 2x0.509

-

16

76.

77.

78.

79.

80.

81.

GET IT ON
Google Play

The aspect of successtul collision is
(1) Steric requirement

(2) Encounter rate

(3) Minimum energy requirement
(4) All of the above

Standard molar enthalpy of formation
of which of the following substances is
not zero 7 '

(1) C (diamond)

(2) C (graphite)

(3) H,(gas)

(4) Br, (liquid)

The factor P in rate equation :
K =PAeEaRT jg
Collision frequency
Steric factor

Pressure

Product concentration

(M
(2)
()
(4)

The ionic strength of 0.25 molal
K,80, solution is
(1) 0.25
(3) 0.75

In the Onsager equation ;
| 824  820x10°

A‘m r l::, i {(DT)”‘? n + (DT)]’Q }\-:.,]\IE:

the first and second term in the bracket

are respectively the measure of

(1) asymmetry effect

electrophoretic effects.

(2) both for electrophoretic effects.

(3) electrophoretic effect and

asymmetry effect.

both for asymmetry effect.

(2) 0.50
4) 1.0

and

4

By -plotting —~ log 7, against @ the
slope of the line for uni-bivalent and
bi-univalent electrolyte will be

(1) 0.509 (2) 3x0.509

(3) 4x0.509 (4) 2x0.509

05
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(1) —675.5k]

T FRAT FEfeta o g @ g
el &
_—‘:hw: k [A] [B]? [C] 8 afufirn o1

3T YRR |iEEE [A], = 0.001 M,
[B], = 0.04 M 3 [C], = 0.04 M & fm
T | T Stk Wt anerdt hife e

(1) 4 (2). 3

(3) 2 4) 1

2x 103 M HC/ fae@a S pH M AF €
(1) 6.0 (2) 3.3

(3) 2.7 4) L5
frfefaa ont da afifparedt @ Eceuw
g 2

Fe3+(-aq) te = Fcz+{aq) °=+077V
In* o +26 —=7n, E°=-076V
(1) 0,01V (@ 153V

(3) - 153V 4) 230V

e Trefefea sfufearet = oSt
Tferd fear m gt
Cisy T Ogg) = COyqy AH =—

393.5kJ
COygy + % Oygy — COy) AH=-282.0K]

frfaraa ifea # AH TR g :
Ci ™ 7 Oy = CO) AH =7
() 111.5kJ

(3) —111.5KJ (4) 6755k

AG=AH+T(@(§—@) g
T /p

'(1) fres-gga it

(2) TFHARME-FARTTT GO
(3) firssy-gouivesT QT

4) feEs g
~AA = W_ ST § HRE A ¥
(1) Frest oo it

(2) SFvElvEs R Sl

(3) sieead™ fedis

(4) ST FRFH

82.

83.

84.

85.

86.

87.
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A reaction obeyed the rate law :

~dAL a1 P

studled by taking initial concentration of
[A], = 0001 M, [B], = 0.04 M and

{C], = 0.04 M. The apparent order of the
reaction shall be

(1) 4
3) 2

[C], The reaction was

2 3
@ 1

The pH of 2 x 10~ M solution of HC! is
(1) 6.0 2 33
3y 2.7 (4) 1.5

What will be the E. oot from followmg
half ¢ell reactions ?
Fe3+(aq)+e == Fe** @ q)E°—+07?V
Zn* T2 =1Ing, E°=-076V
(1) 001V (2) 153V

(3) -153V (4) 230V

 Find the AH of following reaction :

Cyg+ ¥ Oygy = COy AH =2

- The enthalpy changes of followmg

reactions are given _
C(s) + Oz(g) - Coztg) AH=-3935%k]
CO(g) + Oz(g) - COz(g) AH=-282.0k]

(1) —675.5kJ (2) 111.5k]

(3) —111.5kJ (4) 675.5k]
_ JHAG)Y .

AGfﬂH+T( aT )P is

(1) Gibbs-Duhem equation

(2) Clapeyron-Clausius equation
(3) Gibbs-Helmholtz equation
{(4) Kirchoff equation

In thé equation :
- AA=W,_, the function A is

Gibbs free energy
Helmbholtz free energy
Boltzmann constant
Arrhenius function

(D
(2)
()
“
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88.

89.

90.

91,

92.

Frfefen & @ w9 @ Ry W % fag
WHETS! WohH ¥ Ugit uieRi= e § 2

panll @ enlZ
M Rb|g| @ Cphly

- T2 V?.
(3) Cy [T_J (4) Rin {V_J

25 °C WX HCI %t NH, OHﬁsamﬁmw
! deredt B

(1) -5732kJ (2) -51.34k)
(3) -61.34kJ (4) +57.32kJ
a@q%a’rﬁwﬁwﬁr%
(1) widferedr
(2) svfafeEr Trfem gumEEat
3 &Y
(4) T ¥ HiE &
AYPR WA qY @ieEs 9 9
ﬁﬁiﬁ?@ﬁﬁwwﬁwﬁlﬁ%'?
(1) ataq
(2) wiaRd
3y ¥
(4) |l SRR AE o
ffefan ¥ 9§ T T E & 2
H\C/Cl | H\C/Cl
(1) T 2 . (u:
C
/
Br/ \Cl - Cl \Br
CH
CH3\ }31' 3\C/H
3) ¢ ) ]
/C\ | /C"
H Br ¢
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Which of the following gives entropy
change of an ideal gas for isobaric

process 7 .
Ty
2) Cphn ‘T—l

1) Rhi [ij

(1) h P2 .
T2 V2

(3) Cy/n T, @) R v,

The enthalpy of neutralisation of HC/

by NH,OH at 25 °C will be

(1) —57.32kl (2) -51.34k]
(3) —61.34KkJ (4) +57.32KkJ
The two of
n-butane are

{1) enantiomers
(2) diastereomers
(3) meso-form
{(4) None of these

gauche conformers

Most ethane molecules naturally
exist in which of the following
conformations 7

{1) Eclipsed

(2) Staggered

{3) Skew

(4) All in equal amount

Which of the following has
E-configuration ?

H Cl
H\C/Cl | \¢/
o C @
& |
\ /N
BY CJ cf B
CH, B CH
3\(: ; r 3\(3 /H
(3) I (4) I
A S
H C1 Br

05


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

= |V

93, Praffen & @ Rew woewa et @)

994,

95.

a5

THH AEY % YU ¥ Th-gE o yiafaa
fopar ST 2 2

(1) ot gmeag
2) wﬁ?ﬂa'ﬂmaaa
(3) EEIUIE HHEES
(4) 3T wfiia S dEgvig TnEe

HgTteE & Frateied feg 9w d o
meﬂ%mmaﬁa@
wigt fagfr 2 -

(1) Ht
(3) e

(2) d
(4)

sl

H3C/Q + CH20 +

O
- EtOH

H2N (CHy),CF == A

A
T AT SO A § -

1) Hﬁ/Q\CHo

@ HC N(CHa),

3) H3C CH,NHCH,

<17

@ HiC CH,N(CH»),

gt
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Which of the following isomers is/are
inter-converted by rotation about
single bond ?

(1
(2)
3y
4)

Configurational isomers
Geometric isomers
Conformational isomers

Both geometric and conformational
isomers

Which of the following conformer of
cyclohexane has highest energy barrier
with high angle and torsional strain ?

(1} Chair (2) Half chair
(3) Twist boat (4) Boat
In the reaction :
H3C'Q +CH0 +
I ,

&
H,N (CH,),C!~ —E-t%{» A

The major product A is

0

(2) Hsc’Q\N(CHS.)z
0

(3) H3C’§;\CH2NHCH3
o

) H3C’Q\CH2N(CH3)2
0}
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96. + BrCH,COOCH, 96.

G-

+ BrCH,COOCH,

(1) Zn H,S0, (1) Se/A

(1) Zn ) A H,50, , B (1) Se/A . C +>A s C
(2) H,0" A (2) H,0 (2) H,0 A (2) H,0
: Sy C 5. The product C in the above reaction is

1
» - ®
SHL,COOH - CH,COOH
@ | @

5

CH,COOCH; o ' FHLCOOCH,
|«
8 @@ A ¢
- OH

. @ ‘ @

KOH, A
KOH, A . LSSTEN
m - m 97. 0P O ’/'OO
97. ¢ H,0 o 1, 0 ;

CH;
CH, .

IWET ke Fefatas § 9 Reg ~ The above reaction is an application of

\ Refserr Ay ’ﬁ 3o which of the following reaction ?
. (1) St stffEar (;) itli;mllzzar;) react.lon
. nsat
A @ s condein
erkin reaction
(3) uiRT SAfafwar .
s - (4) Stobbe condensation

4) == dge
98. frefeifiga & @ ®F W R weRe = | 98 Which of the following products is

tdifewr TRy & T wifeam tiee formed on condénsation of furfural -

F 3ofiefy § 9979 @ W @ & 0 with acetic anhydride in presence of

- ’ sodium acetate ?

M | (1) Furan

(2) = oot _ ' (2) _Furoic acid -

3) ﬂ ! 3#6?1’ , (3) Furylacrylic acid

® " T (4) Furoin

! 05
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100

101.

102.
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frfafag ® @ == @ afufsw o
FreraTuTe Riafwar & 2

(1) veser oA

(2) Hrart sl

(3) W AR

(4) Tafar wio=amg

) ||0|| o KCN/EIOH U_Eﬂ_im

gt At FrAtafaa 4 9@ feeaer
ST R 2

(1) Toeier g

(2) s=ite dg A

(3) =R ufirispar

(4) fe=ier erfufsen

T & ure g erffea # Reafafy &
(1) TR AaTH -
(2) TerEEE! Hhme

(3) "RTEEE A

(4) TS wiams

N C,H,OH
2CHsN,HSO, —
Cu <ot

A + 2N, + 2H,50,

stfafra § s A ©
NH,

0 ©

OH

°Q

2

- CyHs

-4

21

99.

100.

101,
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Which of the following reactions is a
disproportionation reaction ?

(1) Aldol condensation
(2) Cannizzaro reaction
(3) Mannich reaction

(4) Wittig rearrangement

i ) 1 o KCN/EIOH | U_E:_E@

The above reaction is an application of
which of the following ?

(1) Aldol condensation
(2) Benzoin condensation
(3) Cannizzaro reaction

- (4) Knovengel reaction

The mechanism of coupling reaction

of diazonium salt with phenol and
aromatic amine is

(1) Electrophilic addition
(2) Electrophilic subsitution
(3) Nucleophilic addition
(4) Nucleophilic substitution

In the reaction :
) C,H,O0H
2CHNHSO,———
4 Cupowder

A+ 2N, + 2H,S0,

The product A in the reaction is
NH,

0 ©)

OH

(2) @

C,H;

Jo
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103.

104,

105.

106.

TR @ Sl faere § R i
A FalE FARES % QY IR 6
T ST ¥ |

(1) T

2) TSR

3) TS~

(4) ST TGl THA

w7 tiel ¥ese H 59 o o aga
U Hehg QRS I 9 sifuheim
e ST ¥ a9 ¥E ObeE | uRefaa @
A F | 39 eAfafsren § Hegadr ©

(1) =g

(2) e R
(3) T -G
(4) T eiE

atfifean
CH;

NH,HS NO2  sncr/mct
A2 Bl 2SN

NO,
o 3T A 3R B FEE:
(1) S-ARZo-dieget 3 3-Teglp,
e
(2) 3-TRgpEieEM R 5ATE-o-
et

(3) R 5-TEG-0-2Fe[E
(4) A 3G -p-SiefeH

foiafeg & @ S @ ww eifabe
TETHT BT IGTERT T € ?

(1) Terea

(2) WA
(3) AREAM-6, 6
(4) diferifaeidfeee

103,

104.

105,

106.

22

GET IT ON
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The main product of the reduction of
nitrobenzene in neutral solution with
zinc dust and ammeoenium chloride is

(1) Aniline

{2) Azoxybenzene

(3) Azobenzene

" (4) Phenylhydroxylamine

When an arylhalide is treated with the
very strong basic amide ion in liquid
arfimonia, it is converted into aniline.
The intermediate in the reaction is

(1) Benzyne

(2) Phenyl cation
(3) Phenyl carbanion
(4) Free radical

In the reaction:

_ CH,
N0,
4 NHHS @/ SnClLyHCI o
NO, :

The products A and B, respectively are
{1} 5-nitro-o-toluidine and 3-nitro-p-
toluidine,
(2) 3-nitro-p-toluidine and S5-nitro-o-
- toluidine.

both 5-nitro-o-toluidine.

3)

(4) both 3-nitro-p-toluidine.

Which of the following is not an
example of step reaction
polymerisation ?

(1) Glyptal

(2) Dacron

(3) Nylon-6, 6

(4) Polymethylmethacrylate

05


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

107.

108.

109.

110.

111.

112,

a5

feifafas & @ =9 @ Fu IusRYaSH
TEAB h 17T Tl el & 7 :

(1) 3w Bfenr e Feor 6@ & |
(2) TG JgeTh T & |

(3) wgeTh o Feu uE ) Breear e ¥ |

(4) SEFH H Io O TS 3= eHIE

e |

frafefan 4 @ 9 @ wiaeT gwr
3 T ITRUT & 7

(1) AReREgH

(2) SRR

3) wmEfe

(4) Tt

frafafen & @ w o fomga @wm
AT T § 7

(1) FARTR R

(2) ufmfafer

(3) unferafatem

(4) ufefalerts

FrefafEa § € =4 9@ vy ufaeeis
T H w9

(1) T (2) dfcam
(3) | (4) Tore
BH, = fog-wg wafafa &

(1) Cyy (2) C,y
(3) D3_h 4y Ty4

ffaiEg ¥ ¥ &9 W FA n-iee -

Tt & g e =i ¥ 2

(1) T% 39 ¥ MmN (e § |

(2) ¥ SgeA IORE F wE A wEw
fopar ST & 1

(3) ufvwe % fore waim fomar e &

(4) faEa 3R Ofve ifaEm & dyatam
% Torw et femr S &

107.

108.

109.

110.

111.

112.
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Which of the following statement is

incorrect - for co-ordination

polymerisation ? ,

(1) It does not have stereo-chemical
control.

(2) Unbranched polymer is formed.

(3) Polymer has high degree of "
crystallinity.

(4) Polymer has higher density and
higher melting point.

Which of the following is an example
of anti-fertility drug ?

(1) Norethindrone

(2) Bithional

- (3) Iproniazid

(4) Phenelzine

Which of the following is not a broad
spectrum antibiotic ?

(1) Chloramphenicol
(2) Ampicillin
{3) Amoxyecillin
{4) Penicillin-G

Which of the following drug acts as
antihistamines ?

(1) Equanil
(3} Serotonin

(2) Valium
(4) Seldane

The point group symmetry of BH; is
1y G, (2} Gy
(3) Dy, 4 Ty

Which of the following statements is
incorrect for n-butyl lithtum ?

(1) It is hexameric in the solid.
(2) Used as polymerisation catalyst.
(3} Used for alkylation.

(4)' Used for synthesis of vinyl and
allyl lithium.
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113.

114.

115.

116.

20983 3t rafr S4Cr Q AR T W T
et AT W’ T (super heavy element) 3
(1) Unh (2) Uns
(3) Une 4) Ung

T-TeH ISR fwanfaly
ka k
=ES, ES —25P

ka
o TTEH W depel ! Ul &

kb
o kJ [E] []

E+S

(D

] [E] [5]

b

2) |==
@ {ig+k

[k, .
0 kb] [E] [S]

f k’

a

= kb] (E] [S]

(3

(4)

T Ogd-AUUEY NaOH, NaCl &R
BaCl, I WM WeR Sewhg e
248.1 x 1074, 1265 x 1094 &R
280 x 104 Sm? mol™! & & Ba(OH),
= l;, Sm? mol~! A &

(1) 401.6 x 10

(2) 523.2x 1074

(3) 776.2 x 1074

(4) 654.6 x 107

Frefefan § / S9 W HU S-AERE
v ¥ e w8 @ 2

(1) VM U & |

(2) vERH TR T €

(3) Pt e ) o B A W S
(4) A iy freett ¥ S GUR HTA § |

- 24

113.

114,

115.

116.

GET IT ON
Google Play

The super heavy element made by

18

bombarding 28039Bi with accelerated ngr
(1) Unh (2) Uns
(3) Une (4) Ung

In the enzyme-catalyzed mechanism :
ka kb
E+S k‘——réES, ES —HP
the concentration of enzyme substrate
complex is

. kb
M) |ig7 i [E1IS]
' ka
o kb) [E} [S]
{ k

a

e kb] [E][S]

va
/ k;l ]
ol

(2)

3)

4

For the strong electrolytes NaOH, NaC/
and BaCl/, the molar conductances

at infinite dilution are 248.1 x 1074,
126.5x 10 and 280X 107 Sm? mol™!

respectively, then ?»:n for Ba(OH), in
Sm? mol~! is

(1) 401.6x 10~

(2) 523.2x10~*

(3) 776.2x 107

(4) 654.6 % 104

Which of the following statements is

not correct for Joule-Thompson’s
experiment 7

(1) Process is adiabatic.

(2) Process is not isenthalpic.

(3) Lower temperature is observed on
~ low pressure side.

(4) The gas expands through a porous

barrier.
05
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118.
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& o wet & 0

(1) 99 9 e e 3w o fogiery
T '

(2)Wwﬁaaﬁqwﬁ%@
ATHIAT T & |

(3) uEl foramy =7 veiee gy rl

(4) T et TimEd bR g
STTSHIOT e &

CL,
0O

+OR™ — A

2, 29 - 2, 4-¥vaeEd Ay T
qemy

(1) et 2i9-3, 4-SeAfrer-TreiieE
(2) et -3, 4-sTeferct R
(3) SWIwT I IR ST AR

(4) TR

25
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119,
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Which of the following statement is
correct for Sy; mechanism 2

(M

The first step is dissociation into
an intimate ion pair.

(2)

In second step the leaving group
attacks from back side. _

There is inversion of
configuration.

4

An external nucleophile attacks
the substrate.

)

O

The product A is
OR

e

_ O

(2) OCOOR
CI

0 CX
E -OR

¢
(4) O—OR

The thermal cyclisation of trans, trans-
2, 4-hexadiene gives

(1)

+0OR > A

only trans-3, 4-Dimethyl-cyclo
butene _

(2) Oaly cis-3, 4-Dimethy1-cyclobutene

(3)

both the above products in equal
amournt

4

Cyclo-hexene
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120. ﬁmﬁf@ﬂﬁﬁaﬁ?mwmﬁﬁa

122,

123,

124.

Stree F NMR Fegd & o & €2

(1) sg AT W T YT S
¥ HA@E |

(2) THA WA F S Feaws o
AT 1

(3) THA W S Faree
ferarfera ST ¥

4 oe A WeT 1 SreRiv FERe §
fafeqgar g 1

2 F WHER H R o gon aREeH
st T ?

(1) o7 % ThOTEE §aT TTE

(2) <o oF % ey gat IReaT

(3) Fnar ST A o wereaed gl
' LIRCGE]

4) S B T g URE

wft = % R B WS T

g7

(1) wTEeR Te 1 el

(2) et = qA S

(3) a7eh ot TeeieRRoT ST W ferei b
LLEC I '

(@) WA H T T R
AT

“yTeE T WO % F SRR W
<=1g &t & RRas e ?

(1) HFF

(2) Teaet

(3) f&R

(4) W T

) ey SE A TH P AGE
HE ?

(1) g
(3) HiHeE®

@ ™
(4) &

120.

121.

122.

123.

124.

4)

()

GET IT ON
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Which of the following statements i
correct for NMR  spectrum of .iso-
propyal bromide ?

(1) Absorption by six methyl protons
appears up field.

(2) Absorption of lone proton appears
upfield.

Absorption of lone proton splits
into quartet.

(3)

Absorption of six methyl protons
splits into quartet.

Which type of changes of behaviour is
learning ?

(h
2
3)

Changes through fatigue
Changes through taking medicine

Changes through Practice and
Experience '

)

Changes through disease

Which is not the objective of memory
level teaching ?

(1)
(2)

Training of mental aspect.
To give knowledge of facts.

Perception of meaning and

understanding of thoughts.
(4)

Rememorise and Representation
of knowledge.

Who says “Learning is the
modification of behaviour through
experience and training” ?

(1) Cronback

(2) Kimble

(3) Skinner

(4) Gates and others

“Who is the author of the book “The

conditions of learning” ?
(1) Ausubel (2) Gagne
(3) Thorndike (4) Skinner
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125, Fafeifiad & @ w9 | B @b | 125. Which is not the task of interactive

31?[1%“&@%" STET T B A & 2 phase of teaching ?
(1) Wity o (1) Perception
(2) FE (2) Diagnosis
(3) arfermy arpaat @ = ' (3) Selection of learning experiences
4) ‘I«lﬁﬁ?ﬂmﬁﬁa‘qﬁ (4) Reactive processes

126. “fpviivaen sg woa & fawd fremefer | 126. Who says “Adolescence is a period
SHieRT FTeaaST U uRueerar i SR HhHor which a growing person makes
AT & Tora Fer 9 transition from childhood to maturity” ?
(1) Siates (2) €T e (1) Jersield ~ (2) Stanley Hall
(3) feperdfew (4) Hierars ' (3) Kilpatric (4} Kolesnik

127, FHROIREET HT & 15 3¥ar 16 a9 & 127. What is the approximate weight of
3rg # AiTsh & YR AT ke W @ brain in 15 or 16 years age of
e ? : Adolescence period ?
(1) 800 & 1000 7 (1) 800 to 1000 gm
(2) 1000 | 1100 U9 ] {2) 1000to 1100 gm

(3) 1200 to 1400 gm
(4) 1500 to 1700 gm

(3) 1200 & 1400 =1
(4) 1500 @ 1700 =9

128, Yo i ; _ ' 128, Match the following :

L AT S99 9 a1l -\a' 2 aﬁ I. Trust vs Mistrust a 1-2 yT.
. Stage .
II. WETd STH HE b, 0@ 1 o |
II. Autonomy vs Doubt b. 0-1 yr,
111 9&eT ST T c. 13818 a9 Stage :
1V. 3iea s g d. 395 o [IL Initiative vs Guilt ¢, 13-18 yr.
& IV.Identity vs Role d. 3-5yr.
HT:, conflict -
1 nm 1 1 -~ Codes:
Ma b o d I o I v
@) b c d 4 (1} a b C d
3 b d 2) b c d a
(3} a c b a d ¢
(4) C d a b (4) C d a b

05 27 : a
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130.

131.

132.

133.

(3) arisTe % Sl AL W&
(4) WIS Sgey TE ST ATUHR

s & R B @ PR
foerTeT i TRl € 2

(1) mﬁmﬁﬁwmaﬁmaﬁr
TR 7 WHEl ST HET |

(2) QT FRGRT AR I WATHICAT
T STl Suetied HE |

(3) m#nﬁwaﬁqﬁlmﬁﬁm

(@) s wwfrer o o oEEl @
WWWWEI

B T GRS §Rg HT 9w T € 2
(1) HiefTE v

(2) WiDfTer TahietoT

(3) @BhTs sty

(4) QTS e

Rrfvifiae TR & W A @ B
T W P W W s WS
frgadasfame?

(1) (TSR, TN, T950)

(2) (FRTER, FRTR, TEH)

(3) (TP, YA, Sew)

(4) (@A, T, UGN)

TR % B ¥ W A W
T gyl AR AT SHEER W STl €

_- i fomam 2

(1) SHERREE
(3) Vel

(2) TR
(4) GHTETE!

28

129.

130.

131.

132.

133.

GET IT ON
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The fifth stage of Kohlberg’s theory of
moral development is known as

(1) Obedience
orientation.

Individualism and exéhange.
Maintaining the social order.

Social
rights.

and  punishment

2)
)
4

contract and individual

According to Havighurst which is not
the  Developmental work  of
Adolescence.

(1) To accept the physical structure of
self and use it effectively.

To accept social responsible
behaviour and achieve it.

To develop healthy
towards self.
To get the emotional freedom
from parents and adults.

@

(3) attitude

4

Which is not the component of
emotional intelligence ?

(1) Emotional perception
(2) Emoctional integration
(3) Emotional learning
(4) Emotional management

Out of the following group of
Psychologist which is the completely
correct group related to classical
cognitive theory ?

(1) (Wertheimer, Bruner, Bandura)

(2) (Wertheimer, Kohler, Tolman)

(3) (Koffka, Ausubel, Bolles)

(4) (Tolman, Bruner, Bandura)

Which - group of  Psychologist
concentrate ~ on - observable and
measurable behaviour ?

(1) Behaviourlist (2) Structuraliét
(3) Functionalist (4) Gestaltist
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135.

136.

137.

AT % B G fagT=r 3 snamas e
ST i yifiehr frvme & 2

(1) IRRaRT fagr

(2) T fagr

(3) HYFEwRT g

(4) TaTeUERT fagrd

I | Wi GG 8T A ¥ 7
(1) =31 Wi wreg

(2) widie e

(3) 3Te™™ =i w@hr

4) mgwmm

nﬁﬁreﬁmwé?ﬁﬁﬁaﬁmmﬁ
=1 89 fear ST &

(1) Tswice
(3) wiw

(2) 2w
(4) Wrz==g saed

B W e T &

(1) e R

138.

139,

05

(2) FWE@HEET
(3) U VI T
(4) THET BT FHYN ST

7 ol =i & 99w S Yo oeg

- 3UCT & W] 9% T B WS e

A"t A Sugs F Fea &
(1) TE-U® 55

(2) WRERUfERgT

(3) WE-IRER 5%

(4) 3 IR-UNER 57

B F FER TSl F v g
fereeT = wm ¥

(1) 11§ 1299
(2) 12%® 1398
(3) 13| 14TW
(4) 159 16 =

29
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In which principle of learning teacher
play their role as facilitator ?

(1) Behaviourlist principle
(2) Constructivist principle
(3) Cognitivist ;Srinciple

(4) Psychoanalyst principle

Which is not the area of Balanced
Adjustment ?

(1) . Good physical health
(2) Emotionally balanced
(3) Demands for attention
(4) Work efficiency

Who is the initiator of Mental Hygiene
Science ? .

(1) Headfield
(3) Johns |

(2) Ladell
{4 C.W_. Beers

Which is not guidance ?
(1) To indicate

(2) To point out

(3) To show the way
(4) Solve the problem

When person have two positive target
but he is not in position to achieve
both of them, then this conflict is
known as

(1} Approach-Approach Conflict

(2) Avoidance-Avoidance Conflict

(3) Approach-Avoidance Conflict

(4) Dual Approach-Avoidance Conflict

According to ‘cole’ pre adolescence
period for girls is

(1) 11to 12 years.
(2) 12to 13 years

- {3) 13to 14 years

(4) 15to 16 years
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140. Giwor T B Al el I 9@ | 140, Match the following according to

3ETeull & | gRfed i ; types of Barrier of Communication
: SETERT with their examples
mﬂ}%w Types of Barriers Exampies
I iifees st a. T e Ferfer I. Physical Barriers  a. Pre  work
11, SITST ol STUNC b. TETE _ ' conditions
T < II. Language Barriers  b. Prejudice
i A c. AR NS I1L. Psychological c¢. Unnecessary
v. g A d. TR @ Barriers words
we IV.Background Barriers d. Ill health
' Codes : :
I 1 m 1V 1 I m v
() a " b ¢ d (1) a b ¢ d
2 b ¢ d a g; E ¢ g a
c a
(3) d c b a @) d e a b
4 d ¢ a b

141. Fr=fofiag o @ w9 @ T q;q;rzjm-g} 141. What is not under the category of
) A gty shme gty 7 “information processing model out of
) following ? .
) _ (1) Inductive Thinking Model
(2_) B ST HIE'_ L (2) Inquiry Training Model
(3) QT (BT Wi (3) Social Inquiry Training Model
(4) HorET ST A, ' (4) Concept Attainment Model

142. wfaier dreTed afgaE & nfashRs | 142. Who is the inventor of Advance

BTE? Organizer Model 7
(1) TR (1) Glaser
2) TR . (2) Bruner
(3) < fremt (3) Jean Piaget
(4) David Ausubel
(4) 2fae IRE
143, fasr g7 Wiome ¥ RYT TF IWNW | 143, What is Aims and Application of
e ? - . Scientific enquiry model ?
(1) STRTH ook T faehTd (1)} To develop inductive reasoning.
(2) wte e 1 far (2) To develop mental activity.
() amie R ® Wi % o (3) To develop individual competency
for getting social objectives.
Fafererch &7 7 T
. -~ (4) Logical thinking on the basis of
(4) = Eﬁ, uegé? YR T TSN T information collected. .
ﬂéﬂui 7 4 fa=r
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s #i¢ foemel ©% 0} wger & 9T | 144, Whenever a student interact with a
Fofr s e« w9 & s g computer which is already installed with
TRyl B, o6 Wi Feer & useful learning material is known as
(1) FegeX 9T hm (1) Computer assisted learning

(2) FrgeT we o (2) Computer assisted teaching

(3) FHK T AT (3) Computer assisted instruction
(4) S HE HTR (4) Computer assisted behaviour
q;uszr e 'I’?T&JIHT ufome % weaow 145. Who is the inventor of Computer
FTT? Based Teaching Model ?

Yoe (1) Flendars

(;) (2) Glaser

(2) TR (3) Carrol - o
(3) = (4) Lorense Stuloro and Daniel Davis
(4) TR =t e efmer S

FIF SRV Aol | Wrafum 78 & 9 146. Who is not related with instructional
(1) R (2) TR technology ? "

3 m@-ﬁ 4) TR (1) Bruner (2) Glaiser

) “® {3} Ausubel {4) Morrison
TREIT Thmhl & HfarEeE B 2 147. Who is the exponent of software
(1) TU = technology ?

() «.uw Rt (1) A.A. Lumesdan

(2) B.F. Skinner

SURANE (3) Bruner

(4) ST ~ {4) Ausubel

I T WOl IYFT T O TR & 2 148. Which is not the step of system
(1) vt fagetger approach ?

(2) WO e uE R (1) System analysis

3 N < .. (2) System design and development
3) T T R (3) System operation and evaluation
(4) Tt SRR (4) System classification
'ﬁqmﬁwwqﬁ%? 149. Which is not the basic parameter - of

l?
(1) &1 (2) Wi system
A (1) .Input (2) Process

) ) I (3) Machine (4) Output

HT T Fawy aEE B Ever T8 150. Which is not the characteristic of
39 Software Technology ?

S (1) Itis Soft Technology approach.

(1) T& BT THHt ST ¥ | (2) 1t is also known as Instructional
(2) T FRIA aFAs o Fea & 1 Technology.

(3) T QA e e o ¥ | ) ﬁéﬂf&}‘%‘iﬁi” as Educational
(4) TUH Y&F ER Hﬂﬁlﬁﬁ% I (4) It’s main base is Psychology.
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